
17

C-00180-854 
Gearbox Case Set 
Fit FRONT or REAR

OPTION

Aluminium 7075 Aluminium 7075 
Hard AnodisedHard Anodised

C-00180-117

C-00180-108-1

C-00180-123

C-00180-108-1

C-00180-329

C-00180-122

C-00180-150

C-3611-3-08-16-05 (x2)

DIN913 
M4x4

C-00180-207

C-00180-556-1

C-00180-150

C-00180-1319

C-00180-109

C-00180-011

C-00180-1036 
6x12x1.5mm

C-00180-012

C-00180-1036 
6x12x2.5mm

10

12

12

C-00180-1032

C-3004-40-10

C-00180-055

C-00180-322
C-00180-155-2

C-00180-1001

C-3101-30 (4x)

C-00180-033 (set) 

C-3611-3-08-16-05 (x2)

C-00180-689

C-00180-033 (set)

C-3003-25-1810

10

C-3003-25-08 (2x)
C-3004-30-05 (2x)

C-00180-974

20

20

C-00180-991

C-00180-127

C-00180-149

16

16

C-00180-1011

12

12

12

12

C-3101-30 (2x)

20

20

DIN 916 M5x5

C-00180-1010

C-00180-1244

C-00180-1308 C-00180-992

C-00180-989

12

12
15

15

30

25

20

20

25

30

C-3213-30-5

C-3213-40-5 (x4)

C-00180-551

20

20

16

16

8

HEX FLAT HEAD SCREWS
DIN 7991 - STEEL - 10 PCS

M3x15mm 
#C-3002-30-1515

M3x8mm 
#C-3002-30-088

M4x16mm 
#C-3002-40-1616

M4x20mm 
#C-3002-40-2020

HEX BUTTON HEAD SCREWS
DIN 7380 - STEEL - 10 PCS

M3x10mm 
#C-3003-30-1010

M3x12mm 
#C-3003-30-12

M4x12mm 
#C-3003-40-12

12

12

M3x8mm 
#C-3003-30-088

M3x16mm 
#C-3003-30-1616

M3x20mm 
#C-3003-30-20

M3x25mm 
#C-3003-30-25

M3x30mm 
#C-3003-30-30

20

25

30

FRONT DRIVE TRAIN - TRAIN AVANT - FRONTANTRIEB - VOORSTE AANDRIJFLIJN

https://corally.com/en/product/C-00180-854/team-corally-gearbox-case-set-swiss-made-7075-t6-black-set
https://corally.com/en/product/C-00180-117/team-corally-pivot-ball-adjusting-nut-aluminum-4-pcs
https://corally.com/en/product/C-00180-108-1/team-corally-hd-steering-block-1pc-wide-pillow-ball-cup-2pcs-front-composite-1-set
https://corally.com/en/product/C-00180-123/team-corally-pivot-ball-steel-4-pcs
https://corally.com/en/product/C-00180-108-1/team-corally-hd-steering-block-1pc-wide-pillow-ball-cup-2pcs-front-composite-1-set
https://corally.com/en/product/C-00180-329/team-corally-wheel-hex-adapter-wide-rtr-aluminum-2-pcs
https://corally.com/en/product/C-00180-122/team-corally-pin-25x17mm-steel-10-pcs
https://corally.com/en/product/C-00180-150/team-corally-ball-shouldered-68mm-steel-4-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-207/team-corally-steering-block-arms-aluminum-2-pcs
https://corally.com/en/product/C-00180-556-1/team-corally-hd-camber-links-buggy-93mm-composite-2-pcs
https://corally.com/en/search/C-00180-150
https://corally.com/en/product/C-00180-1319/team-corally-cvd-drive-shaft-mt-4-front-1-pc
https://corally.com/en/search/C-00180-109
https://corally.com/en/product/C-00180-011/team-corally-suspension-arm-upper-front-composite-1-pc
https://corally.com/en/product/C-00180-1036/team-corally-spacers-composite-6-pcs
https://corally.com/en/search/C-00180-012
https://corally.com/en/search/C-00180-1036
https://corally.com/en/product/C-00180-1032/team-corally-drive-shaft-center-front-rear-97mm-steel-1-pc
https://corally.com/en/search/C-3004-40-10
https://corally.com/en/product/C-00180-055/team-corally-suspension-arm-shim-composite-1-set
https://corally.com/en/search/C-00180-322
https://corally.com/en/search/C-00180-155-2
https://corally.com/en/search/C-00180-1001
https://corally.com/en/search/C-3101-30
https://corally.com/en/search/C-00180-033
https://corally.com/en/search/C-3611-3-08-16-05
https://corally.com/en/search/C-00180-689
https://corally.com/en/search/C-00180-033
https://corally.com/en/product/C-3003-25-18/team-corally-steel-screws-m25-x-18mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-25-08/team-corally-steel-screws-m25-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-25-08/team-corally-steel-screws-m25-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-00180-974/team-coraly-suspension-arm-mount-ff-alu-4mm-composite-cover-1-set
https://corally.com/en/product/C-00180-991/team-corally-hinge-pin-plate-eb-front-aluminum-4mm-1-pc
https://corally.com/en/search/C-00180-127
https://corally.com/en/search/C-00180-149
https://corally.com/en/search/C-00180-1011
https://corally.com/en/search/C-3101-30
https://corally.com/en/product/C-3004-50-05/team-corally-steel-set-screws-m5-x-5mm-hex-10-pcs
https://corally.com/en/product/C-00180-1010/team-corally-shock-spacer-4-pcs
https://corally.com/en/product/C-00180-1244/team-corally-body-post-body-holder-composite-4-sets
https://corally.com/en/product/C-00180-1308/team-corally-body-post-holder-rear-composite-1-pc
https://corally.com/en/product/C-00180-992/team-corally-shock-tower-eb-front-composite-1-pc
https://corally.com/en/product/C-00180-989/team-corally-chassis-brace-eb-front-composite-1-pc
https://corally.com/en/search/C-3213-30-5
https://corally.com/en/search/C-3213-40-5
https://corally.com/en/search/C-00180-551
https://corally.com/en/product/C-3002-30-15/team-corally-steel-screws-m3-x-15mm-hex-flat-head-10-pcs
https://corally.com/en/search/C-3002-30-08
https://corally.com/en/search/C-3002-40-16
https://corally.com/en/product/C-3002-40-20/team-corally-steel-screws-m4-x-20mm-hex-flat-head-10-pcs
https://corally.com/en/search/C-3003-30-10
https://corally.com/en/search/C-3003-30-12
https://corally.com/en/product/C-3003-40-12/team-corally-steel-screws-m4-x-12mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-08/team-corally-steel-screws-m3-x-8mm-hex-button-head-10-pcs
https://corally.com/en/search/C-3003-30-16
https://corally.com/en/product/C-3003-30-20/team-corally-steel-screws-m3-x-20mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-25/team-corally-hex-button-head-screw-m3-x-25-steel-10-pcs
https://corally.com/en/search/C-3003-30-30

